Diff Cal - 1.4 - [dis]continuity

1.4 Continuity and One-Sided Limits
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These are all discontinuities
(a) and (d) are removable
(b) and (c) are nonremovable

One-Sided Limits
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Continuity at a point

A function f is continuous at c if the following 3 conditions are met:
1. f(c) is defined

2. Limit of f(x) exists when x approaches c

3. Limit of f(x) when x approaches c is equal to f(c)
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Continuity on an open interval
A function is continuous on an open interval if it is continuous at each point in the interval. A function

that is continuous on the entire real line (—oo, ®)is everywhere continuous.

Continuity on a closed interval
A function f is continuous on the closed interval [a, b] if it is continuous on the open interval | (a, b) and
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Homework #2 - due next Fri, 8/22:

1.3 #11,17,27-350dd, 39-610dd
1.3 #67-770dd; 87, 88
1.4 #7-170dd, 25-28all, 39-470dd, 57, 59

Quiz Time!
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